FIST GRADE - EXAM

READ AND MATCH

SUN BYCICLE TREES BALLOON GLASSES
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1- ITIS A BIRTHDAY PARTY YES NO
2- TOM HAS GOT TWO A YELLOW BALLOON YES NO
3- SOFIE IS VERY HAPPY YES NO
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4- LUCY HAS GOT A RED T-SHIRT

5- THERE ARE FOUR GIRLS

YES NO

YES NO

3- CHOOSE THE CORRECT OPTION.
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ITIS APICTURE

ITISAWINDOW

ITISACLOUD

IT’S GOT RED HAIR

IT’S GOT DARK HAIR

IT’S GOT BLOND HAIR

HE WEARS GLACES

HE WEARS GLASSES

HE DOESN’T WEAR GLASSES

| LIKE SHIRTS

| LIKE SKIRTS

| LIKE TROUSERS
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4- MAKE SENTENCES.

1-  PARK THERE IS A

2- HAS GOT A BIG HEAD THE DOG
3- DON'T LIKE LEMONADE |

4- CAN'T BIKE RIDE |

5- SCARED BOBO ISN'T
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